N4

M1
e
|

M1

201

40

\ ) 5 | e § 8
M E7 il
N2 1l a ©
N1 N1 N3 b= —— d
INPUT 2017
300
P225...P250 P
495
F
M M1 M2 N N1 N2 N N4 X P
L L 3 i
F903 |P80 19 21.8 6 200 | 165 130 — [Miox12| 4 520.5 | 442
F903 |P90 24 27.3 8 200 | 165 130 — [Miox12| 4 520.5 | 442
F903 |P100 28 31.3 8 250 | 215 180 — [M12x16| 4.5 | 530.5 | 446
F903 |P112 28 31.3 8 250 | 215 | 180 — [M12x16| 4.5 | 530.5 | 446
F903 |P132 38 413 10 300 | 265 | 230 16 14 5 567 | 449
F903 |P160 42 45.3 12 350 | 300 | 250 23 18 6 622.5 | 463
F903 |P180 48 51.8 14 350 | 300 | 250 23 18 6 622.5 | 463
F903 |P200 55 59.3 16 400 | 350 | 300 — [Mmi6x25| 7 647.5 | 485
F903 |P225 60 64.4 18 450 | 400 | 350 30 18 6 693 | 485
F903 |P250 65 69.4 18 550 | 500 | 450 30 18 6 723 | 507
Fo904 |P63 1 12.8 4 140 115 95 — | M8x19 4 584 | 448
Fo04 |PTM1 14 16.3 5 160 | 130 110 — | M8x16 | 45 584 | 448
F904 |P80 19 21.8 6 200 | 165 130 — |[Miox12| 4 603.5 | 450
F904 |P90 24 27.3 8 200 | 165 130 — |Miox12| 4 603.5 | 450
F904 |P100 28 31.3 8 250 | 215 | 180 — |M12x16| 4.5 | 613.5 | 454
F904 |P112 28 31.3 8 250 | 215 180 — |M12x16| 4.5 | 613.5 | 454
Fo04 |P132 38 41.3 10 300 | 265 | 230 16 14 5 650 | 455
F904 |P160 42 45.3 12 350 | 300 | 250 23 18 55 | 700.5 | 461
F904 |P180 48 51.8 14 350 | 300 | 250 23 18 55 | 700.5 | 461
A
201 E
1325 F4 aT“O
F2 h9 N = F3 !
- | E:[ﬁ —Lgﬂ} ‘
T {%} i — v \
\4 © g_t o e e o */ souﬂ)suou
T Fh6 E 1 ¥ T w g g %
g I } 5 5
N 7774’»77778 o § N ©y
S e S ok o
__,&*__‘_ ? 1 o~
M30x50 N
61.5 270
5
11
367.5
[I By A E F F1 F2 F3 F4 v o
F903 |, 806.5 140 60 64 18 10 120 | M16x36 | 485
F 90 4 673.5 50 24 27 8 25 45 M8x19 452
@ Bonfiglioli 459 / 572

Riduttori



H100 H90 @
STANDARD
28 25 PO
N N
— - o
o
SN 00N ¢
“F o0 {() 2 |
% 6 e
10067 9067 '3355" ]|
367.5
4415
100 2215 110 69 Nm
/,_.
g
i O I R p—— |
| N
B 5 e °
g
284 333 ®
210
28 h9 10 190
P
| o
CFoon C @ oy oo
| ‘ | Ne ®
M24x50
100 h6
5 24
e o
o &
e o
74
460/ 572 @ Bonfiglioli

Riduttori



